Item #	ltem	Unit of Measure	Qty Needed	Central Poly Unit	Central Poly Total	Fagan Unit	Fagan Total	DeSantis Unit	Desantis Total	Interboro "A" Unit	Interboro "A" Total	Interboro "B" Unit	Interboro "B" Total
	Floor Stripper												
2020	Floor stripper. Buckeye Juggernaut. PH level >=11. Mop on application. Dilution ratio 1:4. Butyl free. Low odor. No substitutes.	5 gal	4										
	Floor Pads												
2030	Floor pads. 20" green. 3M or Hillyard only. 5/case.	Case	6					18.50	111.00				
2031	Floor pads. 20" red. 3M or Hillyard only. 5/case.	Case	6					18.50	111.00				
2032	Floor pads. 20" white. 3M or Hillyard only. 5/case.	Case	4					18.50	74.00				
2035	Floor pads. 20" stripping HI-PRO. 3M or Hillyard only. 5/case.	Case	2					19.70	39.40				
	Floor pads. 13" red. 3M or Hillyard only. 5/case.	Case	3					11.00	33.00				
С	leaners/Degreasers/Neutralizers												
2045	Neutralizer. Must be able to eliminate all Alkaline residues on flooring surfaces including floor strippers and ice melt products. Dilution ratios 4 oz/gal maximum. Phosphate free. UL slip resistant 186S. Hillyard Nutra-Rinse HIL0021907 or equal.	5 gal	2			142.40	284.80						
2046	Heavy duty restroom cleaner. Must contain 20% minimum phosphoric acid gel. Ready to use product. Hillyard extra strength CSP or equal. 12 quart/case	Case	6			132.60	795.60	40.50	243.00				
2051	Shower foam sprayer. 96 oz capacity. Chemical resistant, polyethylene container. Must include quick disconnect trigger spray gun for rinsing. Hillyard 26320 or Gilmour 75HGFMR.	Each	1			79.50	79.50						
	Soaps/Disinfectant Products												
2070	Isopropyl Alcohol 70%. 12 32oz bottles per case. Other sizes/quantities are acceptable/will be considered.	Case	2					42.75	85.50				
	Carpet Products												
2081	ProTeam QuarterVac sweeper bags. Intercept Micro #100431. 10/pk.	Pack	2			17.80	35.60						
	Garbage Bags												

Item #	ltem	Unit of Measure	Qty Needed	Central Poly Unit	Central Poly Total	Fagan Unit	Fagan Total	DeSantis Unit	Desantis Total		Interboro "A" Total	Interboro "B" Unit	
100111 11	Trash bags. 38 x 58 heavy duty. 55 gal	- mousure	1100000	l ory orme		<u> </u>		<u> </u>		7	71 1014	2 0	
2086	2.0 mil. 100/case. Black. Sample required.	Case	100	22.41	2,241.00			22.99	2,299.00	28.34	2,834.00	21.94	2,194.00
	Trash bags. 43 x 47 heavy duty. 2.0 mil.				,				,		,	-	,
2087	100/case. Black. Sample required (blue/gold outside cans)	Case	10	22.22	222.20			19.20	192.00	40.32	403.20	28.32	283.20
2001	Trash bags. 33 x 39. 33 gal. 1.0 mil.	Cusc	10	22.22	222.20			10.20	102.00	10.02	100.20	20.02	200.20
2088	100/case. Black. Sample required. (Hallway torpedo cans)	Case	39	9.91	386.49			11.50	448.50	11.72	457.08	9.48	369.72
2000	Trash bags. 15 x 9 x 31 rolls. 12-16 gal.	Case	33	3.31	300.43			11.50	440.00	11.72	437.00	3.40	303.72
2090	1.0 mil. 500/case. Black. Samples required. (Classroom cans 24 x 32)	Case	60	23.10	1,386.00			14.35	861.00	25.24	1,514.40	21.32	1,279.20
2009	Feminine product disposal bags. 17 x 17.	Case	60	23.10	1,300.00			14.33	001.00	25.24	1,514.40	21.32	1,279.20
	Black. Clear as a 2nd choice. 50												
2091	bags/roll. 40 rolls/case. 2000/case. Sample required.	Case	3	16.00	48.00					29.98	89.94	18.34	55.02
	Paper Products/Rags												
	Toilet tissue. 2 ply. 96 rolls/case. 500												
2098	sheets/roll. Approximately 4 1/4" diameter roll.	Case	60	43.00	2,580.00			42.78	2,566.80				
	Toilet Tissue. Torx jumbo roll, 2 ply. 12 rolls/case. 751' rolls. 3.5" wide. 2.25-2.35" center. Approximately 7.125" tall. Torx type only. Or, example												
2100	Vondrehle paper mfg.	Case	8										
2102	Shop towels. Disposable. 9 " x 11 sheets. 85 sheets/box. 12 box/case. Kimberly Clark Professional or equivalent.	Case	2										
	Paper towels. Perforated. 9" x 11"				50.00								
2104	sheets. 30 rolls/case. 85 2 ply towels/roll. Cleaning cloths. Terry towel remnants.	Case	2	28.00	56.00								
2105	50 lb box.	Box	1										
2107	Wipers. Not treated. For bleach, disinfectants and sanitizers. White. 1 bucket + 6 rolls, (90) 12 x 12.5 sheets per roll. Kimberly Clark Professional/Kim Tech 0641130 or equal.	Case	2										

Item #	ltem	Unit of Measure	Qty Needed	Central Poly Unit	Central Poly Total	Fagan Unit	Fagan Total	DeSantis Unit	Desantis Total		Interboro "A" Total	Interboro "B" Unit	Interboro "B" Total
iteiii#	Paper towels. Non perforated. 8" wide.	ivieasure	Needed	Poly Ullit	I Olai	Onit	i Otai	Oilit	TOtal	A Ullit	A IOIAI	БОШ	B TOTAL
	Roll towel. White hardwound. 12												
	rolls/case. 300'/roll. Mor-Soft or Equal.	_											
	(HS/Hemp) shes/Brooms/Handles/Containers	Case	139	22.70	3,155.30			26.79	3,723.81				
	7" stainless utility toothbrush. 12/pack	Pack	1										
		Pack	1										
	scellaneous Cleaning Equipment												
	4" Carbon steel blades. 10/pack. Unger												
2156	RB10C or equivalent.	Pack	1										
2159	Laundry soap. 50 lb. Without bleach or softeners.	Each	2										
	Window squeegees. Rubber blade with sponge covered in nylon mesh. 8" head.		_										
	16" handle.	Each	5										
2163	Buckets. 1 gallon plastic with handle.	Each	4										
2164	Combo/janitor cart. 48" x 20.5" x 36.75" with 25 gal bag. White model 6850 or equivalent	Each	2										
2166	Stain and mark remover pads. Must remove crayon, marker, ink, scuffs, etc. Must be commercial grade. 24/pack. Hillyard A- Gressive #30312 or equivalent. Mr. Clean Magic Eraser not accepted.	Pack	8			39.60	316.80	22.00	176.00				
	12" x 4" scraper. Unger UNGSH25C or												
2168	equal.	Pack	2										
	Window squeegees. Stainless steel, soft rubber with ergonomic rubber grip. 10". Unger PR250 only. 10/case.	Case	1										
F	Personal Protection Equipment												
	Disposable gloves. Latex or vinly. Powder free. Large. 100/box. 10 box/case. Sample required.	Case	3							24.80	74.40	24.80	74.40
	Disposable gloves. Latex or vinyl. Powder free. Medium. 100/box. 10 box/case. Sample required.	Case	2							24.80	49.60	24.80	49.60
	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size small.	Pair	1			40.00	40.00						-

## 2025-2026 Custodial Supply Bid

Item #	Item	Unit of Measure	Qty Needed	Central Poly Unit	Central Poly Total	Fagan Unit	Fagan Total	DeSantis Unit	Desantis Total	Interboro "A" Unit	Interboro "A" Total	Interboro "B" Unit	Interboro "B" Total
2184	Shoes for crews or equivalent. Size large.	Pair	1			42.00	42.00						
	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size X-large.	Pair	2			43.00	86.00						
	Safety glasses. Break/crack resistant. UV block. Tinted sunglasses.	Each	4										
	Disposable gloves. Latex or vinyl. Powder free. Extra large. 100/box. 10 box/case. Sample required	Case	3							24.80	74.40	24.80	74.40
	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size XX-Large	Each	1										
	Plumbing												
	5 gallon bucket pump. 1 oz stroke. #901a or equal.	Each	10										
	Electrical												
	T8 Fluorescent bulbs. 4'. F032/735/ECO Sylvania Octron ECO or equal. Please list manufacturer. 30/case	Case	10										
	Ballast. Electronic 120 vac. 4 lamp T-8. 10/pkg	Pkg	1										
	Total				10,074.99		1,680.30		10,964.01		5,497.02		4,379.54

Item#	ltem	Unit of Measure	Qty Needed	Interboro "C" Unit	Interboro "C Total	Janitor Supply Unit	Janitor Supply Total	Mon D Aid Unit	Mon D Aid Total	Pyramid Unit	Pyramid Total	Quill Unit	Quill Total
	Floor Stripper												
	Floor stripper. Buckeye Juggernaut. PH level >=11. Mop on application. Dilution ratio 1:4. Butyl free. Low odor. No												
2020		5 gal	4			64.80	259.20						
	Floor Pads									 I			
2030	Floor pads. 20" green. 3M or Hillyard only. 5/case.	Case	6			16.13	96.78	17.50	105.00	14.99	89.94		
2031	Floor pads. 20" red. 3M or Hillyard only. 5/case.	Case	6			16.13	96.78	17.50	105.00	14.99	89.94	33.82	202.92
2032	Floor pads. 20" white. 3M or Hillyard only. 5/case.	Case	4			16.13	64.52	17.50	70.00	14.99	59.96	30.46	121.84
2035	Floor pads. 20" stripping HI-PRO. 3M or Hillyard only. 5/case.	Case	2			18.50	37.00	23.60	47.20	19.99	39.98		
	Floor pads. 13" red. 3M or Hillyard only. 5/case.	Case	3			8.90	26.70	9.70	29.10	8.99	26.97	19.15	57.45
	leaners/Degreasers/Neutralizers												
2045	Neutralizer. Must be able to eliminate all Alkaline residues on flooring surfaces including floor strippers and ice melt products. Dilution ratios 4 oz/gal maximum. Phosphate free. UL slip resistant 186S. Hillyard Nutra-Rinse HIL0021907 or equal.	5 gal	2			42.10	84.20	36.25	72.50				
2046	Heavy duty restroom cleaner. Must contain 20% minimum phosphoric acid gel. Ready to use product. Hillyard extra strength CSP or equal. 12 quart/case	Case	6			39.74	238.44	39.60	237.60				
	Shower foam sprayer. 96 oz capacity. Chemical resistant, polyethylene container. Must include quick disconnect trigger spray gun for rinsing. Hillyard 26320 or Gilmour 75HGFMR.	Each	1										
	Soaps/Disinfectant Products												
2070	Isopropyl Alcohol 70%. 12 32oz bottles per case. Other sizes/quantities are acceptable/will be considered.	Case	2			34.60	69.20						
	Carpet Products												
2081		Pack	2			13.00	26.00	10.65				10.14	20.28
	Garbage Bags												

Item #	Item	Unit of Measure	Qty Needed	Interboro "C" Unit	Interboro "C Total	Janitor Supply Unit	Janitor Supply Total	Mon D Aid Unit	Mon D Aid Total	Pyramid Unit	Pyramid Total	Quill Unit	Quill Total
iteiii#	Trash bags. 38 x 58 heavy duty. 55 gal	IVICASUIC	Necucu	C OIIIC	Ciotai	Offic	TOtal	Ald Offic	TOtal	Offic	i Otai	Quiii Oiiit	TOtal
0000	2.0 mil. 100/case. Black. Sample	0	400	04.04	0.404.00	00.00	0.000.00	00.05	0.005.00				
2086	required.  Trash bags. 43 x 47 heavy duty. 2.0 mil.	Case	100	21.94	2,194.00	26.30	2,630.00	26.25	2,625.00				
	100/case. Black. Sample required												
2087	(blue/gold outside cans)	Case	10	22.74	227.40			24.15	241.50				
	Trash bags. 33 x 39. 33 gal. 1.0 mil.												
2088	100/case. Black. Sample required. (Hallway torpedo cans)	Case	39	9.48	369.72	19.43	757.77	17.10	666.90				
	Trash bags. 15 x 9 x 31 rolls. 12-16 gal.	0.00		00	0002								
0000	1.0 mil. 500/case. Black. Samples			04.00	4 070 00	04.40	4 00 4 00	00.00	4 =00 00				
2089	required. (Classroom cans 24 x 32)	Case	60	21.32	1,279.20	31.40	1,884.00	26.60	1,596.00				
	Feminine product disposal bags. 17 x 17. Black. Clear as a 2nd choice. 50												
	bags/roll. 40 rolls/case. 2000/case.												
2091	Sample required.	Case	3	18.34	55.02	24.00	72.00						
	Paper Products/Rags Toilet tissue. 2 ply. 96 rolls/case. 500												
	sheets/roll. Approximately 4 1/4"												
2098	diameter roll.	Case	60			47.48	2,848.80	39.35	2,361.00			50.33	3,019.80
	Toilet Tissue. Torx jumbo roll, 2 ply. 12 rolls/case. 751' rolls. 3.5" wide. 2.25-2.35" center. Approximately 7.125" tall. Torx type only. Or, example												
2100	Vondrehle paper mfg.	Case	8			49.98	399.84	23.00	184.00				
	Shop towels. Disposable. 9 " x 11 sheets. 85 sheets/box. 12 box/case. Kimberly Clark Professional or												
2102	equivalent.	Case	2			56.40	112.80	36.00	72.00				
2104	Paper towels. Perforated. 9" x 11" sheets. 30 rolls/case. 85 2 ply towels/roll.	Case	2			29.20	58.40	26.95	53.90			35.01	70.02
2104	Cleaning cloths. Terry towel remnants.	Case				29.20	30.40	20.93	33.90			33.01	70.02
2105	50 lb box.	Box	1			88.90	88.90	71.99	71.99				
2107	Wipers. Not treated. For bleach, disinfectants and sanitizers. White. 1 bucket + 6 rolls, (90) 12 x 12.5 sheets per roll. Kimberly Clark Professional/Kim Tech 0641130 or equal.	Case	2					105.00	210.00				

ltem #	ltem	Unit of Measure	Qty Needed	Interboro "C" Unit	Interboro "C Total	Janitor Supply Unit	Janitor Supply Total	Mon D Aid Unit	Mon D Aid Total	Pyramid Unit	Pyramid Total	Quill Unit	Quill Total
iteili #	Paper towels. Non perforated. 8" wide.	Weasure	Necueu	C OIIIC	Ciotai	Offic	i Otai	Ald Offic	IOtai	Oilit	lotai	Quin Onit	<u> 10tai</u>
	Roll towel. White hardwound. 12												
2108	rolls/case. 300'/roll. Mor-Soft or Equal. (HS/Hemp)	Case	139			28.60	3,975.40	29.50	4,100.50				
	shes/Brooms/Handles/Containers							25.50	<del></del>				
	7" stainless utility toothbrush. 12/pack	Pack	1			56.16	56.16	19.32	19.32				
	7" nylon utility toothbrush. 12/pack	Pack	1			56.16	56.16	19.32	19.32	11.88	11.88		
Mis	scellaneous Cleaning Equipment												
2156	4" Carbon steel blades. 10/pack. Unger RB10C or equivalent.	Pack	1			9.90	9.90	7.99	7.99	7.19	7.19		
2159	Laundry soap. 50 lb. Without bleach or softeners.	Each	2			27.40	54.80	37.45	74.90				
	Window squeegees. Rubber blade with sponge covered in nylon mesh. 8" head.										05.05		
	16" handle.	Each	5 4			6.98	34.90	4.28	21.40		35.05		
2163	Buckets. 1 gallon plastic with handle.	Each	4			0.98	3.92			7.29	29.16		
2164	Combo/janitor cart. 48" x 20.5" x 36.75" with 25 gal bag. White model 6850 or equivalent	Each	2			162.50	325.00	125.15	250.30	139.75	279.50		
2166	Stain and mark remover pads. Must remove crayon, marker, ink, scuffs, etc. Must be commercial grade. 24/pack. Hillyard A- Gressive #30312 or equivalent. Mr. Clean Magic Eraser not accepted.	Pack	8			28.00	224.00	26.45	211.60				
2168	12" x 4" scraper. Unger UNGSH25C or equal.	Pack	2			26.00	52.00	10.65	21.30	20.89	41.78		
	Window squeegees. Stainless steel, soft rubber with ergonomic rubber grip. 10". Unger PR250 only. 10/case.	Case	1					63.50	63.50		169.90		
	Personal Protection Equipment												
	Disposable gloves. Latex or vinly. Powder free. Large. 100/box. 10 box/case. Sample required.	Case	3	24.80	74.40	22.10	66.30	18.90	56.70	26.90	80.70		
	Disposable gloves. Latex or vinyl. Powder free. Medium. 100/box. 10 box/case. Sample required.	Case	2	24.80		22.10	44.20	18.90			53.80		
	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size			24.00	40.00								
2182	small.	Pair	1			39.90	39.90	40.65	40.65	39.99	39.99		

## 2025-2026 Custodial Supply Bid

Item #	ltem	Unit of Measure	Qty Needed	Interboro "C" Unit	Interboro "C Total	Janitor Supply Unit	Janitor Supply Total	Mon D Aid Unit	Mon D Aid Total	Pyramid Unit	Pyramid Total	Quill Unit	Quill Total
2184	Shoes for crews or equivalent. Size large.	Pair	1			39.90	39.90	40.65	40.65	39.99	39.99		
	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size	Pair	2			39.90	79.80	40.65	81.30		79.98		
2187	Safety glasses. Break/crack resistant. UV block. Tinted sunglasses.	Each	4			4.80	19.20			1.35	5.40		
	Disposable gloves. Latex or vinyl. Powder free. Extra large. 100/box. 10 box/case. Sample required	Case	3	24.80	74.40	23.60	70.80	18.90	56.70	26.90	80.70		
2190	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size XX-Large	Each	1							39.99	39.99		
	Plumbing												
		Each	10			5.98	59.80			2.99	29.90		
	Electrical												
2224	T8 Fluorescent bulbs. 4'. F032/735/ECO Sylvania Octron ECO or equal. Please list manufacturer. 30/case	Case	10										
2225	Ballast. Electronic 120 vac. 4 lamp T-8. 10/pkg	Pkg	1										
	Total				4,323.74		15,063.47		13,873.92		1,331.70		3,492.31

		Unit of	Qty	Unipak	Unipak	United	United
Item #	Item	Measure	Needed	Unit	Total	Unit	Total
	Floor Stripper						
	Floor stripper. Buckeye Juggernaut. PH level >=11. Mop on application. Dilution ratio 1:4. Butyl free. Low odor. No						
2020	substitutes.	5 gal	4				
	Floor Pads						
2030	Floor pads. 20" green. 3M or Hillyard only. 5/case.	Case	6				
2031	Floor pads. 20" red. 3M or Hillyard only. 5/case.	Case	6				
2032	Floor pads. 20" white. 3M or Hillyard only. 5/case.	Case	4				
2035	Floor pads. 20" stripping HI-PRO. 3M or Hillyard only. 5/case.	Case	2				
2036	Floor pads. 13" red. 3M or Hillyard only. 5/case.	Case	3				
CI	eaners/Degreasers/Neutralizers						
2045	Neutralizer. Must be able to eliminate all Alkaline residues on flooring surfaces including floor strippers and ice melt products. Dilution ratios 4 oz/gal maximum. Phosphate free. UL slip resistant 186S. Hillyard Nutra-Rinse HIL0021907 or equal.	5 gal	2				
2046	Heavy duty restroom cleaner. Must contain 20% minimum phosphoric acid gel. Ready to use product. Hillyard extra strength CSP or equal. 12 quart/case	Case	6				
2051	Shower foam sprayer. 96 oz capacity. Chemical resistant, polyethylene container. Must include quick disconnect trigger spray gun for rinsing. Hillyard 26320 or Gilmour 75HGFMR.	Each	1				
	Soaps/Disinfectant Products						
2070	Isopropyl Alcohol 70%. 12 32oz bottles per case. Other sizes/quantities are acceptable/will be considered.	Case	2				
	Carpet Products						
2081	ProTeam QuarterVac sweeper bags. Intercept Micro #100431. 10/pk.	Pack	2				
	Garbage Bags						

Item #	ltem	Unit of Measure	Qty Needed	Unipak Unit	Unipak Total	United Unit	United Total
2086	Trash bags. 38 x 58 heavy duty. 55 gal 2.0 mil. 100/case. Black. Sample required.	Case	100	21.85	2,185.00	22.44	2,244.00
	Trash bags. 43 x 47 heavy duty. 2.0 mil. 100/case. Black. Sample required (blue/gold outside cans)	Case	10	21.85	218.50		2,211100
2088	Trash bags. 33 x 39. 33 gal. 1.0 mil. 100/case. Black. Sample required. (Hallway torpedo cans)	Case	39	12.50	487.50	15.54	606.06
2089	Trash bags. 15 x 9 x 31 rolls. 12-16 gal. 1.0 mil. 500/case. Black. Samples required. (Classroom cans 24 x 32)	Case	60	12.25	735.00	31.97	1,918.20
2091	Feminine product disposal bags. 17 x 17. Black. Clear as a 2nd choice. 50 bags/roll. 40 rolls/case. 2000/case. Sample required.	Case	3				
	Paper Products/Rags						
2098	Toilet tissue. 2 ply. 96 rolls/case. 500 sheets/roll. Approximately 4 1/4" diameter roll.	Case	60			35.31	2,118.60
2100	Toilet Tissue. Torx jumbo roll, 2 ply. 12 rolls/case. 751' rolls. 3.5" wide. 2.25-2.35" center. Approximately 7.125" tall. Torx type only. Or, example Vondrehle paper mfg.	Case	8				
	Shop towels. Disposable. 9 " x 11 sheets. 85 sheets/box. 12 box/case. Kimberly Clark Professional or equivalent.	Case	2				
2104	Paper towels. Perforated. 9" x 11" sheets. 30 rolls/case. 85 2 ply towels/roll.	Case	2				
2105	Cleaning cloths. Terry towel remnants. 50 lb box.	Вох	1				
2107	Wipers. Not treated. For bleach, disinfectants and sanitizers. White. 1 bucket + 6 rolls, (90) 12 x 12.5 sheets per roll. Kimberly Clark Professional/Kim Tech 0641130 or equal.	Case	2				

14 44	14	Unit of	Qty	Unipak	Unipak	United	United
Item #	Item	Measure	Needed	Unit	Total	Unit	Total
	Paper towels. Non perforated. 8" wide.						
	Roll towel. White hardwound. 12 rolls/case. 300'/roll. Mor-Soft or Equal.						
2108	(HS/Hemp)	Case	139			23.14	3,216.46
	shes/Brooms/Handles/Containers					20.14	
	7" stainless utility toothbrush. 12/pack	Pack	1				
	7" nylon utility toothbrush. 12/pack	Pack	1				
	scellaneous Cleaning Equipment						
	4" Carbon steel blades. 10/pack. Unger						
2156	RB10C or equivalent.	Pack	1				
	Laundry soap. 50 lb. Without bleach or						
2159	softeners.	Each	2				
	Window squeegees. Rubber blade with						
	sponge covered in nylon mesh. 8" head.						
	16" handle.	Each	5				
2163	Buckets. 1 gallon plastic with handle.	Each	4				
	Combo/janitor cart. 48" x 20.5" x 36.75"						
0404	with 25 gal bag. White model 6850 or						
2164	equivalent	Each	2				
	Stain and mark remover pads. Must						
	remove crayon, marker, ink, scuffs, etc.						
	Must be commercial grade. 24/pack. Hillyard A- Gressive #30312 or						
	equivalent. Mr. Clean Magic Eraser not						
2166	accepted.	Pack	8				
	12" x 4" scraper. Unger UNGSH25C or	1 0.0.1	<u> </u>				
2168	equal.	Pack	2				
	Window squeegees. Stainless steel, soft						
	rubber with ergonomic rubber grip. 10".						
2169	Unger PR250 only. 10/case.	Case	1				
F	Personal Protection Equipment						
	Disposable gloves. Latex or vinly.						
	Powder free. Large. 100/box. 10		_				
2179	box/case. Sample required.	Case	3				
	Disposable gloves. Latex or vinyl.						
0400	Powder free. Medium. 100/box. 10	Coos					
2180	box/case. Sample required.	Case	2				
	Slip resistant footwear. Over shoe type.						
2122	Shoes for crews or equivalent. Size small.	Pair	1				
2102	Isiliali.	jr ali	<u> </u>			<u> </u>	

## 2025-2026 Custodial Supply Bid

Item #	ltem	Unit of Measure	Qty Needed	Unipak Unit	Unipak Total	United Unit	United Total
2184	Shoes for crews or equivalent. Size large.	Pair	1				
2185	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size X-large.	Pair	2				
	Safety glasses. Break/crack resistant. UV block. Tinted sunglasses.	Each	4				
2189	Disposable gloves. Latex or vinyl. Powder free. Extra large. 100/box. 10 box/case. Sample required	Case	3				
2190	Slip resistant footwear. Over shoe type. Shoes for crews or equivalent. Size XX-Large	Each	1				
	Plumbing						
2199	5 gallon bucket pump. 1 oz stroke. #901a or equal.	Each	10				
	Electrical						
2224	T8 Fluorescent bulbs. 4'. F032/735/ECO Sylvania Octron ECO or equal. Please list manufacturer. 30/case	Case	10				
2225	Ballast. Electronic 120 vac. 4 lamp T-8. 10/pkg	Pkg	1				
	Total				3,626.00		10,103.3

Jnited
Total
0,103.32